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Question 7:

1 1
If secA =x+ —, prove that sec A + tan A = 2xor— .
4x 2x

Answer:

1
secp=x+ —
¢ 4x

2
1
= sec’ @ = <x+ E) (sec® @ = 1 + tan® @)

o= (sr3)
tan” @ = x+Z -1

tan2 = X_l ’
¢ = 4

2
tan” @ = +x — —
$== 4x
+t PRI !
sec anp=x+—+x— —
@ @ dx — 4x
= 2xor—
2x
Question 8:

If A, B are acute angles and sin A = cos A = cos B , then find the value of A+ B .
Answer:

A+ B=90°
Question 9:

(a) Solve for _,if tan5¢ =1

Answer:
tanS¢ = 1
oo 45

?=73
=> @ =9°
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i 1
(b) Solve for _if —? 2 *CSe@
1+cose sin @

Answer:

sin 1+ cos
. ?_,

14+cosg sin @

sin? @ + 1(cos p)* _

sin@ (1 + cos @)

sin” @ 4+ 1 + cos? @ +2cos @ 4

sSin @ + sin @ cos @
24+2cosp
sing (1 +cos¢)
24+ (1 4+ cos @) _
sing (1 +cosq)

2
sin @

=4

. 1
> SsSimne = —
v=3
= sin ¢ = sin 30
@ =30°

Question 10:

cosa cos a
If = mand — = pn, show that (m2 + n2) cos? f = n?
cos i sin
Answer:
cos cos &

= m— =
cos f sin

2 2
» _Cos“a , cosTa

> m- = n- =
cos f sin’ f

LHS = (m* +n*) cos® p

[cosza cos a] 5

+
cos* f sin’ p

1
= cos’ « <7> cos? p
cos? fsin® B

2
cos"a  ,

cos? B

= (m2 + nz) cos? p= n’
Question 11:
If 7cosecqp —3cotep =7,, prove that 7cot e — 3cosecep =3
Answer:

Tcosecp —3cotp =17
20f3
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P.T cote — 3cosecep =3
Tcosecp—3cotp="7
= Tcosecp—T=3cote
= 7(cosecp — 1) =3cote
= 7 (cosecp — 1)(cosecp + 1) =3cotp(cosecp+ 1)
=7 (coseczgo— 1) =3cotp(cosecp+ 1)
=>T7=3cotp(cosecp+1)

7 cot g — 3cosecp =3

30f3



